system =causal and Non-causal system is said to be causal A system if its output depends upon present and past inputs for all the values of t system is said to be non-causal system Non-causal system :-A if its output depends upon future input also. y & = x(+) (\mathfrak{D}) () y(t) = sin x(t) y (0) = x (0) y (0) = Sin x (0) y(1) = x(-1)y () = sin x () y (-1) = x(1) y(-1) = Sin x(-1) 0)p depends upon future ")p olp depends upon present ")p Non-causal system causal System (¥) y(b) = 5x(b)+b (3) y (t) = x (2n) y (0) = 5 x (0) + b y (0) = x (0) y(1) = x(2) y'(1) = 5x(1) + by (-1) = x(-2) y(-1)= 5x(-1)+b 0/p dépende upon future :/P olp depends upon present "/p Non- causal system causal system y(n) 3 e x(n) Section 2 hours 5) A (0) = 6x (0) olp depends on present input y (1) = ex(1) causal system y (-1) = ex(-1) SNS COLLEGE OF TECHNOLOGY Signals & Systems/Unit I J.Prabakaran AP/ECE

Static and Dynamic system :-Static System :- [System Without Memory] when the output of the system depends upon only the present input then system is called Static system the Dynamic system [system Without Memory]: - * system is said artput depends upon Prast and future to be dynamic, if the the system involves any differentiation (or) inputs. If integration that . System's are also called as dynamic system (2) y(t) = x(-t) () y (n) = x(h) Sin won y (0) = x (0) yo= xo sin won y (1) = x(-1) 40) = x0) Sin won y (-1) = x (1) y (-1) = x(-1) Sin wo N ofp depends upon future "IP Olp depends upon present ilp Dynamic System static system A (F) = any x (F) (f)3 y(m)= x(-m+2) 4(0) = 9in x (0) y (0) = x (2) y (1) = Sin 2 (1) y(1) = x(-1+2) = x(1)y (-) = Sin x (-1) Y(-1) = x (1+2) = x (3) olp depends upon present :1p old gebeuge riber fiture :16 static system Dynamic system

Signals & Systems/Unit I

Jprabakaran AP/ECE

SNS COLLEGE OF TECHNOLOGY

and Unstable system :-Stable * A system is said to be unstable of and 3 only if every bounded input produces the STEE - N 1 bounded output. A stable system is also known as BIBO stable system. * A system is said to be stable, if the bounded input x (1) produces the bounded output y (2) $2k |x(t)| \leq N_X < \infty$ for all t then [y(t)] = rsy < a for all t condition for stability :- $\overset{\circ}{\succeq}$ [h(m)] < 0 Inverse system (or) Invertability:-A system is said to be inverse system ef those is unique autout for every unique input x(t) -> System y(t) Invoise -> x(t) check for stability :-(2) h (m) = 2 n u (m-3) (h(m) = h u (m) 4(m-3)= 10, NZ3 $= \sum_{n=-\infty}^{\infty} [n u(n)] = \sum_{n=-\infty}^{\infty} [h(n)]$ $= \sum_{n=1}^{\infty} \left[2^n u(n-3) \right]$ = Z N $= \sum_{h=3}^{\infty} |2^{h}| \neq 2^{3} + 2^{4} + \dots + 2^{\infty}$ $= 0 + 1 + 2 + \dots = 0$ = 🔊 = 0 SNS COLLEGE OF TECHNOLOGY Signals 4 Systems/Unit I J.Prabakaran AP/ECE

(3)
$$h(0) = 3^{h} u(-n)$$

 $= \sum_{N=-p}^{p} [h(0)] u(-n) = \int_{0}^{1} \int_{0}^{hz-\infty} u(-n)$
 $= \sum_{N=-p}^{p} [3^{h} u(-n)] \Rightarrow \sum_{N=-p}^{p} 3^{N}$
 $= \sum_{N=-p}^{p} [3^{h} u(-n)] \Rightarrow \sum_{N=-p}^{p} 3^{N}$
 $= \sum_{N=-p}^{p} [3^{h} u(-n)] \Rightarrow \sum_{N=-p}^{p} 3^{N}$
 $= \frac{1}{1-\sqrt{3}} \Rightarrow \frac{1}{\sqrt{3}} [Stable system]$
 $= \frac{1}{1-\sqrt{3}} \Rightarrow \frac{1}{\sqrt{3}} [Stable system]$
Veaily the properties of the system :-
(0) $\psi(n) = x(n) u(n)$
 $\psi(n) = x(n) u(n)$
 $\psi(n) = x(n) u(n)$
 $\psi_{2}(n) = \alpha_{1}x_{1}(n) u(n) + \alpha_{2}x_{1}(n) u(n)$
 $\psi_{3}(n) = \alpha_{1}x_{1}(n) u(n) + \alpha_{2}x_{2}(n) u(n)$
 $\psi_{3}(n) = u(n) [\alpha_{1}x_{1}(n) + \alpha_{2}x_{2}(n)]$
 $= \alpha_{1}x_{1}(n) u(n) + \alpha_{2}x_{2}(n) u(n)$
 $\psi(n) = x(n) u(n)$
 $\psi(n) = x(n) u(n)$
 $\psi($